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(B)
At end of December 2008 the Irish National Debt amounted to approximately €50.4bn and at the end of December 2014 it was approximately €180bn.
 State and explain three problems associated with the Irish National Debt. 
 (15 marks) 

(C)
· Explain Adam Smith’s four canons of taxation

(D)
· Define the exchequer borrowing requirement
· Explain, with an example, what is meant by the incidence of taxation
· State three functions of the National Treasury Management Agency
[30 marks]
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State and explain what you consider to be the three most important economic aims of

® )
the Irish Government.
(ii)  Outline two examples of possible conflicts between government economic

ms/objectives.
(25 marks)





